(2) e BT - ot
X oy | R RBUE ﬁ: i El i PR B R B
Hi k 1 897.09 0 0 897.09

(3) HEARIU PEME BT
X | ATEEERBUE & im% i E; i REFA PR B )
% 1 1 10 0 0 10
W i 1 1 0 0 1
& i 11 0 0 11

(4) A HRES Hifir: 1]
X | ATEEERBIUE & ifi ki El i RFAR B R B )
() ¥ = o423 &5 H K 10,000,000 0 0 10,000,000
KR T7v R =277 () 1,000,000 0 0 1,000,000
& it 11,000,000 0 0 11,000,000

(5) & IZ L HHER] HAT: [
X 57 | HITEEERBIE R EoE RN RIFAR B R B )

e iz

(AR KB HEEMEEEHE S 5,000,000 0 0 5,000,000

+ # B O & HOB'E & 5,000,000 0 0 5,000,000

(AM)®ERLITEMEA B4 4,000,000 0 0 4,000,000

(223 ) SRS 2 A A P 40 B8 U 14 4 4 1,370,000 0 0 1,370,000

() 2 HBoESHLER Rt 7 — R4 4,683,000 0 0 4,683,000

7 oy 3t R A RS R R A 3,800,000 0 0 3,800,000
= &t 23,853,000 0 0 23,853,000
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3. 15 M _ BT
¥ i
IX 5 | we AR L
Htatk s AL &S MG B & 3,370,000 475,000 1,092,000 2,753,000
4. J& B4R
(1) MBEREEIELS B [
5Ky AR EER RGO REAFER
BLE e Jik B
B4 1,112,935,187 2,950,270,490| 2,840,000,000] 1,223,205,677
Bt 1,050,000,000 930,000,000{ 1,050,000,000 930,000,000
&t 2,162,935,187 3,880,270,490|  3,890,000,000] 2,153,205,677
PRAE FBE R B 1 1,223,205,6 77 FIIZIE, — MRS FH~OEH (£444)916,000,000 1 23& £ b,
(2) BRELREET UL B [
Ky R EER R FE AR
BE S ] Jik BE
B4 9,407,522 2,351 0 9,409,873
(3) JTaEER IS B [
Ky HIFAFEEER B E T REAFER
BE S ] Jik B
B4 399,738,001 880,122,004 780,000,000 499,860,005
B 100,000,000 100,000,000 100,000,000 100,000,000
&t 499,738,001 980,122,004 880,000,000 599,860,005
(4) HhiltE ki B [
5 BIAREER B OEE T AR ER
BER e Jik BES
T 28,391,405 353,641,706 42,650,000 339,383,111
B 300,635,433 54,462,102 300,635,433 54,462,102
a3 329,026,838 408,103,808 343,285,433 393,845,213
SR RAR FE R BIAE 339,383, 111 FITIE, — R FH~D & (£44) 1,373,000 03 & Fd,
(5) A FrBASS B i a4 Bz [
X4y R EER N NG S L RFAFPER
BE S o] Pk B
B4 3,025,788 756 0 3,026,544
(6) HEVENFEEES Bz [
X4y HIFAFEEER R E AR RFAFEER
BE S ] Pk B
B4 87,370,138 120,039,369 127,150,000 80,259,507
B 15,471 13,689 15,471 13,689
& 87,385,609 120,053,058 127,165,471 80,273,196
SR BRAR FE R BIAE 80,259,507 FIZ1E, — R R FH~DEHs (K+44) 30,950,000 I 3 & Fvd,
(7) HEEEEmEES B [
5Ky ﬁ;ﬁﬁffgﬂe iﬁ% HOE qu;jz &iifgﬂi
115y = VB + /5]
B4 51,917,272 103,159,158 102,900,000 52,176,430
B 3,142,000 3,142,800 3,142,000 3,142,800
&t 55,059,272 106,301,958 106,042,000 55,319,230
x&%@ﬁ;ﬁﬁ&mw 176,430M12i%, — =7 ~OEH (R444) 1,800,000 23 & £ib,
(8) #HEMigkFelmise: B [
5Ky ﬁ;ﬁﬁffgﬂe iﬁ% HOE qu;jz &iifgﬂi
115y = VB + /5]
B4 13,597,272 10,012,269 18,966,000 4,643,541
B 10,000 44,653,000 10,000 44,653,000
&t 13,607,272 54,665,269 18,976,000 49,296,541

SRR i skfﬁﬁmz; 643,541 FIZIL, —HREFH~DOEE (R£44) 1,829,000 03 E Fd,
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(9) T-HhBAFRE 4 HAL: M
X4y ﬁﬁ%rﬁzﬁ B E Gl &%E%X
BLE e Jik B
Blé 65,372 16 0 65,388
(10) EREEES BAf7: [
X4y ﬁﬁ%rﬁzﬁ e H O E Gl &%E%X
BLE e Jik B
Blé 1,159,115,259 2,780,408,262| 2,280,000,000{ 1,659,523,521
1Bt 500,010,000 500,000,000 500,010,000 500,000,000
o 1,659,125,259 3,280,408,262| 2,780,010,000 2,159,523,521
SR AR FE R BILE1,659,523,52 1 FIIZIE, — & ~DEHE (FR44:) 109,900,000 I3 E £ b,
(11) FERAEFEAREEEE LS HAL: A
X4y ﬁﬁ%rﬁzﬁ e H O E Gl &%E%X
BLE H Jik B
Blé 207,810 51 0 207,861
(12) EREFRERREEEEEEEMNES HAL: A
X4y ﬁﬁﬁifﬁji R B EPM H%%Efgﬂ%
BE ] Jik BLE
Blé 6,000,000 0 0 6,000,000
(13) Ikt B vEn s HAL: A
X4y ﬁﬁﬁifﬁji R B EPM H%%Efgﬂ%
BE S ] Jik BLE
Hié 354,971,673 674,091,452 650,000,000 379,063,125
SR AR R IAE 379,063, 125 T, IR ER IS G~ D CREL4) 2,864,5T9M 3 & 5,
(14) EFEN#EY— 2858 L4 HAL: A
X4y ﬁﬁﬁifﬁji R B EPM H%%Efgﬂ%
B ] Jik B
Blé 5,000,000 0 0 5,000,000
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